5,945

26 1 8 1 15
2,620 44.1
33 7
62.1 65 38
90.4% 9.6%
65 1 80 2 70

19 20 30 40 50 5 60 65 70 75 80 85 90
29 39 49 54 59 64 69 T4 79 84 89

2607

280

1343

982

4 60.8 13.7

=1
=2
=3
"4
=5
=6

0% 20% 40% 60% 80% 100%




89.1%

15% 20% 25% 30% 35% 40% 45%

0% 5% 10%
36 45 81
86
25 8%
0% 10% 20% 0% 40% 50% 60% 70% 80% 90% 100%
| | u | u
75 33
29 4 5
4 5 36

55.0%

0%

10% 20% 30% 40% 50%

60%

2




3
5[.7%
31.3%
40% 60%
41.1%
0% 5 10% 15 20% 25 30% 35 40% 45k
80
20 60
a7
40 1 69 2
48
0% 10% 20% - 30% 40% 50% 60% 70% 80% 90% 100%
75
90%



16 59 9 | 11 (5 2435
16 65 8 P 2241
8 |5 38 43 194
0.0% 10.0% 20.0% 30.0% 40.0% 50.0%
8
74 15
|
|
|
|
|
F T T T T 1 [ ]
0% 20% 40% 60% 80% 100%
[ ]
[ ]
[ ]
} } } ! } | [ ]
0% 20% 40% 60% 80% 100%




